Regnerekkefolger
1. Regn ut. Husk regnerekkefalge.

32 : 4 + 70 = 29 + 6 : 1 =
9 * 3 + 93 = 45 - 8 : 2 =
2 2 - 1 = 51 + 9 * 8 =
9 *1 - 6 = 91 - 5 : &5 =
88 +27 : 9 = 15 : 3 + 99 =
50 - 50 : 5 = 10 * 1 + 22 =
57 + 7 * 6 = 48 : 6 - 5 =
56 - 80 : 10 = 9 * 10 - 13 =
2. Regn ut.

36 : 6 + 8 * 2 =
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33 =

16:2 + 4 * 8 =

6 * 4 + 44 37 =

3. Regn ut.

88 +5 : 8 - 79 + 12 * 8 =

54 - 48 : 6 + 45 + 27 * 8 =

58 +49 : 7 - 19 + 9 * 10 =

75-5: &5 +33 + 64 * 8 =

Gratis arbeidsark i matematikk fra https://no.planetpsyd.net



